


(1)

OFDM 10ch 64QAM 50ch

1 0.0075%)

C/N

C/N

C/N

0.0075%1 1.66mm/

C/N

oI

C/N

35

FDM-SSB

[dBm]
FDM-SSM

Lp=324+20 (d)+20l0g(f) |
d Ll £ MHz]

0.6[m]

Pr=Pt-(Lp+(Lft+Lfr))+ Gat+Gar -Id

Prni=10 (B)+ NF - 114
B [MHz],
N . 1981 = 7.0[dB].
C/N  [dB]

C/N CIN

Xr 1

It 2

99.95%
I'r = Xr><It

C/N

C/N

CIN

[dB]

CIN [dB]
CIN

[dB]
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2) /
(256QAM) 13
5.274MBaud 64QAM
(64QAM)
C/N
(256QAM)
C/N  (256QAM)
c/N !
OFDM 64QAM 256QAM
1 34 dB - -
2 45 dB 45 dB 51 dB
3 HFC 41 dB 2 41 dB 2 51 dB 2
4 3
5 FTTH 32 dB 32 dB 39 dB 4
6 33 dB 33 dB 39 dB
7 24 dB 5126 dB 6 | 34dB 7
(C/N ) CATV
JCTEA-STD-018-1.0 ( )
(HFC ) C/N C/N  51dB
74
256QAM
4dB 51dB CATV 23GHz
( 1) 20 9
4= 7- 2- 3- 5- 6 ( )
OFDM B64QANM 256QAM
27 dB 29 dB 39 dB
FTTH 256QAM  C/N JCTEA STD-018( )
FTTH 1dB
39dB 23GHz ( 1)
20 9
(OFDM) C/N
(640AM) C/N
(256QAM) C/N

138



C/N

C/N, = —10Ioglo[10( Cig]?J _10[ C;:’\lzj _10[_%J _10( Ci(')\lsj _10[ CiglsJJ

C/N
(64QAM)
C/N

T I

(2560QAM) 38.9dB
C/N
C/N (34dB )
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(3) OFDM 64QAM 256QAM [CIN], CII

[C/N]O Cll
23GHz
OFDM
64QAM 256QAM [C/N],
C/
OFDM 64QAM
256QAM 64QAM
[C/N]O Cll
[C/N], C/N
C/N
C/N
[C/N]O 45dB
FDM-SSB [C/N], 45dB
5><104/
C/N
C/N =Pt—LP-Lf1-Lf2+Gat+Gar-I"r—Prni
\ J \_Y_}
|
NS— ~—
C -
Lp Lf2
Lf1
Ir
Pt Gat Gar

Pt Lp Lf1, Lf2
Gat Gar
r Prni
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C/

D)
FDM-SSB C/l 55dB
FDM-SSB C/l 52dB
e /1= 1[c/,]
i=1
C/I. =D/U, +R
N N
D
— So ’,,”/ U —
— ’,,"" - ~. U, _\ —\
- LQ
- 5 _/ -
m Clii i
DIV |
R
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C/l

Cll

1 _ m 1
c/n] < c/1]

C/lI,=D/U, +R
m
C/l; i
D/U, i
R

FDM-SSB FDM-SSB
FDM-SSB
S/N 0dB

D=Pt-Lp-LM1-Lf2+Gat+Gar-TIr

FDM-SSB

U=Pt-Lp —Lf1"-Lf2+ Gatb’ + Gar6 — I'r" + DR

Gat

Lp
Lf1 Ir
. e S

Pt
Lp” "
Gatd’ //'rr’
Lf1 \e
Pt
D: Pt Lp
Gat Gar
Ui i Pt
Lp’
Lf1’ re
Gato’
Garf
DR
DR=Tr (6/270) 0= B8 90<
DR=TIr/3 90= 6 180<
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CATV

23GHz

102

OFDM 64QAM

256QAM
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CIN

(

CIN
[CIN], CII
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CATV

C/N
OFD | 64 | 256
M | QAM | QAM
OFDM
31dB | - - 3
45dB | 45dB | 51dB
C/N 51dB
HFC 74
41dB | 41dB | 51dB | ,po
4dB 51dB
C/IN
OFDM 64QAM | 256QAM
27.1dB 29dB 39dB
FTTH FTTH 256QAM C/N  38dB
32dB | 32dB | 39dB
1dB
33dB | 33dB [ 39dB
24dB | 26dB | 34dB | 1 6
(CIN ) CATV JCTEA-STD-018
( )
(HFC ) CIN C/N
51dB 74
CATV 23GHz ( 1 20
9
OFDM C/IN 3
31dB ARIB STD-B31
C/N  34dB CIN
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OFDM
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64QAM 256 CIN
64 | 256
OFDM QAM QAM
R 27.1dB | 29dB | 39dB
*OFDM
CIN
26.3dB | 55 048 | 38998 | 3448
CIN **256QAM
CIN  31dB
N 27.1d8 | - i OFDM CIN
. CIN
CIN [C/N],
CATV
= [C/N]o




CIN
. Y
> CIN 8) |:> cll
. 7
> CIN )
> ZTx
> CIN )
' ZRX
> CIN o~ |:> [CIN],
CIN[dB] | CATV
C/N[dB] cll
FDM-SSB TV
C/l = 52dB
TV
C/N[dB]
C/N[dB]
C/N[dB] [C/N],

146




OFDM

27.1
CN -1 (aB) <]
R 42.0
> N | ) |fl> ci
X 27.2
> CIN i
, 42.0
> N | i)
X 273
> N | 4By |:> [C/N],
CIN[dB] CIN  31dB
27.1dB
26.3dB
CIN[dB] G/l = 52B
NTSC-VSB-AM
10dB C/l = 42 dB
C/N[dB]
CIN[dB]
CIN[dB] CIN CIN
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64QAM

29.0
CN 1 (aB) <:|
R 42.0
> CIN ) |fl> cl
R 29.2
> CIN )
R 42.0
> N | )
R 29.4
S N | ) |fl> [C/N],
C/N[dB] 29.0dB
C/N[dB] C/l = 52dB
NTSC-VSB-AM -10dB
C/l = 42 dB
C/N[dB]
C/N[dB]
C/N[dB] CIN CIN
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256QAM

38.9 64QAM
on [ 8 1C3
, 48.0
> ST |:> ci
, 39.5
> CIN )
R 48.0
> N | )
, 40.2
> N | ) |:>[C/N]O
C/N[dB] 64QAM
38.9dB
C/N[dB] C/l = 52dB
NTSC-VSB-AM 4dB
C/l = 48 dB
C/N[dB]
C/N[dB]
C/N[dB] CIN CIN
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10

3dB

16
16

S/

FDM-SSB

55dB

18dB 4

1><10

19dB

26

1><10

52dB

150

S/ 50dB
C/
FDM-SSB
C/l 3dB 26dB
C/l 52dB
C/
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VSB-AM
VSB-AM
26 4
D/U
VSB-AM D/U -1 -2
CATV 55dB
D/U
26 4 52dB
C/
C/l S/
FDM-SSB C/I 55dB
FM S/l 50dB
C/ S/l
FDM-SSB 52dB CII
FM 18dB S/
4 PSK 19dB CII
16QAM 26dB C/I
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OFDM

64QAM

256QAM

-35dB

-26dB

-34dB

OFDM

188

1><104

-35dB

204,
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4) (C/N)
(CIN)

1)
()
50
[ 1
[ ]
[ ]
[
]
[
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TV [C NI

[C N]
[ ]
[ ]
[ ]
[ ]
[C N]
[
[C N]
Z
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() FDM-SSB

FDM-SSB
23GHz
FDM-SSB
FDM-SSB
FDM-SSB
C/N [C/N],
45dB 53104/ [CIN],
OFDM  64QAM OFDM  64QAM
OFDM 640AM
_| 23GHz 23GHz 23GHz |
m
Pt I-f1 Gat I-p rr Gar Lf2 Pl’min I:>rni
[C/N]O = Pt - Lp - Lfl_ Lf2 +Gat +Gar _rr - I:)rni
FDM-SSB C =Prmin
N =IDrni
Pt Gat Gar
Less Lo Ly
r,
P P

i rmin
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)

C/N
CATV
FDM-SSB
CIN FDM-SSB [C/N],
FDM-SSB
FDM-SSB C=P._.  FDM-
SSB
CIN
FDM-SSB
I
FDM-SSB C=C,+Cg+Cc

[CNl, G, [CN], G, [CNl,  C,

C,><n, C.>n

[C/N]xx =Chx = Nyx = Prinxx = Praixx

[C/N]XX C/N Cxx PrminXX
Ny, Pooisx = 10log(BW) + NF -114
BW (MHz) NF
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() FDM-SSB

fy
FDM-SSB B =f,-f MHz
= FDM-SSB B MHz
C/N
C/N 45dB
fy
FDM-SSB B =f,-f MHz
= FDM-SSB B MHz

[C/N],
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() TV
FDM-SSB
BXX
FDM-SSB
BW Prni01
4 )
STEP1:
PrminXX
\_ J
(
STEP2
FDM-SSB
I'_)rmin01
\- _/
4 )
STEP3:
FDM-SSB
Prni01
\_ J
4 )
STEP4

[C/Nlo1 = Prminot1 = Prnios

\

.

[C/N],,

P

rmin01

[C/N]o4

[C/NIoxx = Prminxx = Prnixx

[C/N]oxx XX
PrminXX XX
PrniXX XX

l:,rmin01 = Z(PrminXX > NXX)
Prmin01 FDM'SSB
PrminXX XX
NXX XX

P,nio1 = 10log(B)+F-114
P,.01 FDM-SSB
B=3(B,, > NXX)

B, XX
NXX XX
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@ vV [C/N],,

[C/N ]01 = Prminor —

IDrni 01

Prmin01 FDM'SSB

Prnixx +[C/N ]o XX

P . ,.=10 Ioglz (10 10

dBm

XK ﬂ

Prixx dBm
P .« =10log(B,, )+ F —114
Byx MHz
F dB
[C/N]gxx C/N dB
NXX
Prio1 dBm
P ., =101log (B)+ F —114
B MHz
B=> (B, xNXX)
XX [C/N]oxx [MHZz]
OF OFDM 27.3 5.6
25 | 256QAM 40.2 5.3
64 64QAM 294 53
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) [C/N]o

OFDM 64QAM NTSC-VSB-
AM

-10dB
FDM-SSB

23GHz
NTSC-VSB-AM FDM-SSB
[C/N],=45dB
OFDM 64QAM
[C/N],
FDM-SSB
C/N  [C/N]y, [C/N],
NTSC-VSB-AM Pt
DXX
I:’rminDXX
FDM-SSB I:’rmin02
B\vl\vl
Prni02 [C/N]02
FDM-SSB

FDM-SSB

C=Cprsc +Ca+Cg +C¢
)

D,
1

C tsc I Dc

b

:/ NTSC \
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O [C/N],,

[C/N ]02 = I:)r min 02 Pmi 02

P mino, FDM-SSB

rmin0

dBm

Prnint +45 PrminT +45—Dxx
P inc2 =1OI09K10 0 x NNTJ+Z(1O 0 xNXX ﬂ

PrniNT NTSC'VSB-AM dBm

P .+ =10log(4.0)+ F —114

F dB

NNT NTSC-VSB-AM
NXX
DXX dB

Prmioz dBm
P .. =10log(B)+F —114

B MHz

B=2 (By x NXX )

XX [MHZz]
NT | NTSC-VSB-AM 4.0
OF OFDM 56
25 256QAM 53
64 64QAM 5.3
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()  [CIN]y

[C/N]o,
[C/N]oxx
P minxx
Prminxx = [C/N]oxx + Proixx
[C/N]oys, CIN
[C/N],or OFDM 1 CIN
[CIN]ops 256QAM 1 CIN
[C/NJos, 64QAM 1 CIN
P = 10log(Byy) + F — 114
F
Bor OFDM 1 5.6MHz
B,s 2560AM 1 5.3MHz
By, 640AM 1 5.3MHz
[C/N]o4 FDM-SSB
P NXX  FDM-SSB
P

rmin01

Prmino1 =1010g(C;)
C, = 10*(P,minor/10) ><NOF + 104(P 025/ 10) ><N25
+ 10"(P,mins4/ 10) ><N64
C, FDM-SSB (mW)
NOF OFDM
N25 256QAM
N64 64QAM

PiorHC/N]oor PrnizsHC/Nlops PrnisaHC/N]yes
F’rmmol=10|og{[10 1 xNOF}{lO 1 xNZS}{lO 1 ><N64H
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[C/N],, FDM-SSB

NXX FDM-SSB
I:>rni01

P 4=10log(B) +F — 114 (dBm)
B (MHz)
B = Bor <NOF + B, <N25 + B, > N64
Bor OFDM 1 5.6MHz
B,s 256QAM 1 5.3MHz
Bg, 64QAM 1 5.3MHz
NOF OFDM
N25 256QAM
N64 64QAM
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